
Multiply by Negative Powers of Ten (B)Find each product.
9.1157 × 0.1 = 8.0695 × 0.01 =
7.57 × 0.001 = 6.17 × 0.001 =
9.2871 × 0.001 = 6.982 × 0.1 =
3.38 × 0.001 = 6.87 × 0.1 =
2.55 × 0.001 = 6.97 × 0.01 =
8.8059 × 0.01 = 3.25 × 0.1 =
8.9667 × 0.1 = 7.3 × 0.1 =
8.7 × 0.1 = 6.7821 × 0.1 =
5.2 × 0.001 = 0.2 × 0.01 =
4.6982 × 0.01 = 0.9528 × 0.1 =
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Multiply by Negative Powers of Ten (B) AnswersFind each product.
9.1157 × 0.1 = 0.91157 8.0695 × 0.01 = 0.080695
7.57 × 0.001 = 0.00757 6.17 × 0.001 = 0.00617
9.2871 × 0.001 = 0.0092871 6.982 × 0.1 = 0.6982
3.38 × 0.001 = 0.00338 6.87 × 0.1 = 0.687
2.55 × 0.001 = 0.00255 6.97 × 0.01 = 0.0697
8.8059 × 0.01 = 0.088059 3.25 × 0.1 = 0.325
8.9667 × 0.1 = 0.89667 7.3 × 0.1 = 0.73
8.7 × 0.1 = 0.87 6.7821 × 0.1 = 0.67821
5.2 × 0.001 = 0.0052 0.2 × 0.01 = 0.002
4.6982 × 0.01 = 0.046982 0.9528 × 0.1 = 0.09528
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